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Devon Moore: Looking through the solved problems for Bernoulli’s equation | learned how to change
the standard form of the equation using algebra to solve for the unknown variable. | also learned it Is
important to place the reference point at a spot that has the most known values and solve for the point
that is unknown. The slides also explained the importance of substituting unknown variables such as
velocity, in the first example, for a relationship that is known. The example problems also show when it
is acceptable to drop variables that are not needed such as velocity in a large tank that is assumed to be
still or pressure when it is atmospheric for both points. The slides also explained where and how to find
parameters for known pipes in the appendix of the textbook. How to find the power of a pump was also
explained in the slides, showing how to solve for ha and plug that value in to a formula with volumetric
flow rate and specific weight of the fluid. Pump efficiency was also introduced to determine the power

of a pump that is not 100% efficient which is more realistic.

David Buonconsiglio: So far in this course, | have learned that it is possible to solve things without
calculus, and that if you get the equations right, that excel can be your best friend. | also learned that
variables can be dropped as needed according to the information available, and the data required, such
as in Bernoulli’s equation when solving for a system. This does have to be done with caution, as you
don’t want to drop a necessary variable, and you must make sure the data for the reference point is
valid. Picking a reference point is extremely important in solving these systems, as are drawings that let
you see the system in question. | particularly enjoyed the shopping center set-up that was given to us,
and how we can pick and choose our equations based on need. The majority of the data we will need is

either given in the problem, or found in the book in the appendixes, and if not, it is available on-line with



a little google-fu. | am looking forward to the next steps and what | will learn going forward. This class
has been an eye-opening experience, especially in trying to figure out how to use Bernoulli’s equation in
the problems in the homework. | hope to maintain my high level of readiness and attain an A in this

course.

Richard Harrell: During this class so far, | have learn that Solving Problems in are not just knowing the
equations “plug and Chug”. This mean that | can you use basic Algebra to simplify Bernoulli’s Equation to
solver for the unknown. This means | can drop variables that are not needed. An example of this would
be dropping Velocity when the is no motion and the pressure is Atmospheric at all points. Also learned
that when solving a system problem | should not start every equation the same. Instead | should start

solving at the lowest point with the most known Values.

Traveon Williams:



79.

il with a specific gravity of 0.90 is flowing downward through the venturi meter shown in the
figure. If the manometer deflection h is 28 in, calculate the volume flow rate of oil
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89.

0il with a specific weight of 55.0 Ib/ft* flows from A to 8 through the system shown in the
figure. Calculate the volume flow rate of the oil
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91.

To what height will the jet of fluid for the conditions shown in the figure?
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